Lesson 12-1

Circumference of Circles

| Can... fpd the circumferences of circles, given the radius or ! What Vocabulary
diameter, using the formulas for the ci 7  Will You Learn?
ey e € circumference of a circle, and !
find meter of a circle, given its circumference G there
X circle
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Because the radius of a circle is the distance from the center to any e
point on the circle, the length of the diameter is always twice the Cl= 2 \ \ B
radius. It also means that the radius is half the diameter. e
Q) Talk About It!

What equation can be
used to find the

. | + diameter d of a circle
given the radius r?
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@ Q Talk About It!
What equation can be

2 \ ' ) used to find the radius
() r of a circle given the

Q diameteuf.’
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Q@ Talk About It!
When you use 3.14

or Z to find the
cirdumference-of a
circle, will it be the
exact circumference or
an approximation?
Justify your response.

se_—%u\ﬁ

acircle is proportional to

represented by the G
The decimal never en

approximatioh for mis 7

o s
1

The table shows the use of
acircle.

K

Words

T

To find the circumference C ofa
circle, multiply T by its diameter,
d or T by two times its radius, I.

Symbols

q Or C=mdorC=2%r

Its diameter ]

reek letter ™ (pi). The
ds, but |s often appro

valué of ™ is
ximated to 3214.,

two formulas to find the circumference of
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find

 the circumference of {h‘e_llock'-

ce.Use 3.4 for 7. Round to the

! i rest hundredth if necessary,

ecause you are given the diameter, Jen:
use the formula C = 7d.
c=md Circumference of o t-:, (
a circle 1
¢ =m(23) Replace d with 23, S
¢ =237 Simplify. This is the exqct circumference
C =~ 23(314) Replace 7 with 314, @ Talk About It!
= impli o : In the fourth line of the
Cc=7222 Simplify. This is the approximate circumference. solution, why was the
So, the distance around the clock face is about 32 12 feet equal sign (=) changed
- s to an ap ut
equal to symbol (=)?

Check

The Niagara SkyWheel, which overlooks Niagara Falls, Canada
has a diameter of 50.5 meters. Find the ciréumference of the
Niagara SkyWheel. Use 314 for 7. Round to the nearest hundredth

€
C= 32N ho b
4§ C = D

Qo Online You can complete an Extra Example online.
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Q) Talk About It!

Why are the units of
the circumference

: glven as inches and
not squere iinches or g
cubic inches?

S X

T\

‘ e Go Online You can complete an Extra Example online.

13314 lnches.

Check

Find the circumference of a circle
314 for 7. Write your answer as a dec

hundredth. C ” Z_—TTY- |
CP3 08 =B

with a radlus of 0.9.¢
imal rounded to the i

Show
your work
here

' | { ]

»

Pause and Reflect

Compare and contrast the’coﬁcepts of perimeter and circu

Y. g
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Simplify.

Q@ Example 3 Find the Diameter Given the
Circumference :

One of the largest water fountains in the world, Singapore’s Fountain
of Wealth, consists of a circular bronze ring that has a circumference
of 66 meters.

Find the approximate diameter of the fountain’s bronze ring. Use
314 for 7. Round to the nearest hundredth.

Copyright © McGraw Hill Education

Because you need to find the diameter, use the formula d =—§.
0 ‘ i :
==z Diameter of acircle

66 : ;
d=3u Replace T with 314 and C with 66. i
d=21.02 Simplify- :

So, the approximate diameter of the fountain’s bronze ring is about

21.02 meters.

|

TR S R o

" QTalk About It
How does the solution
compare to your Ve

« estimate?
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Q) Talk About It

How does your
solution compare to
the estimate?

~

o Shwiake

rad‘.'

Grcle.

us 10

~ Beause 128

s Yo

- Because you need to

‘Radlus of a circle

r=—=—

2T

70 82

7082 d C with 70.82.
2(3 14) Replace 7 with 3.14 an

r= 11.28 : Simplify.

So, the approximate length of the radius of a circle that has :
70.82-inch circumference is about _\_\_13_ inches. :

Check

Find the approximate radius of a circle with a circumference
7.92 centimeters. Use 3.4 for 7. Round to the nearest hun

92
2%3:\

how
your work
here

=

= Z’ﬂ'

Lo s

. Area, Surface Area,
762 Module 12

D Go Online You can complete an Extra Example online.
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Kafﬁma has a circular garden
wﬁjhe diameter of her‘»:"tw :
Zrcular garden is 2.5 feey o eelgh
giameter of Kamma's gargen er'

X much

~ |andscaPe edging does hel’*ne|° .
1o border her garden? Use " ;14?hbor neeq
10 the nearest hundredith, or . Roun

4 What is the task?

Make sure you understand ey
ac
roblem to solve. You may Wantttlz what que
piscuss these questions with 5 panrnead b
er,

stion to answer or
Problem three times.

first Time Describe the conteyt
second Time What mathematjc.
Third Time What are you wong

of the problem
S do you see in
ering about?

+in your own words.
the problem?

2 How can you approach th
= CN the task? What strategies can you WS

o o “Xe aml e

Neﬁhbafﬁsolf amefer= 2.5 4 S

R'B Q Talk About It!
Is it possible to find
the circumference of
the neighbor’s garden

using only.sadius

easurements rather

20, Y\Qiﬁhloo( circumbrane = —WCX —enfndnate

diameters? Explain

3.\Lk \ng | “your reasoning.

= 266981 e i
4 How can you show your solution is reasonable? m&—_m:(iﬁ

Q Write About It! Write an argument that can be used to defend

your solution. ‘(\Qf\}é&\.‘y_ﬂ\ gi 5 %)fﬂ%

cliil] Jauuhl Jird |

3 What is your solution?
Use your strategy to solve the problem.,
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Q Go Online You can complete an Extra Examli’Ie °"
i o d A

666mm

- l.‘

Pause an‘d'Reflect

diameter or radius to find the circumference.

f Ram
ohsenvations

/

here <Z e ’
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3, Find the c1rcumference of a circle with
radius of 31— yards. Use 314 for 1t Write

your answer as a decimal rounded to
the nearest hundredth, (Example )

2GS

C, 2 X 2 \WN3NB

5. The world’s largest flower, the Rafﬂesuaihas 8
a circumference of 286 centimeters. Find

the approximate diameter of the flower. Use

314 for 7. Round to the nearest hundredth if

=

L 'ﬂl’: ’

4, Findﬂ»edrmnﬂemnceo;:‘mm'
radius of 4.4 inches. Use
Round:qmqmrmhumndﬂ!
necessary. (Example 2)

ck q 622 in
7_3 helucopter pad has a clrcumferem of
471 _47 yards. Find the approximate diameter of
_ the hehcopter pad. Use 3.4 for . Write your
" answer as a decimal rounded to the nearest
hundredth if necessary (Exampn 3) %

cessary. (Example 3
(.
SRR 2\Y

AN o) A2 Al

7. Find the approximate radius of a cirggm
a circumference of 34.48 inches. Use 314
for 7. Round to the nearest hundredth.

.. C Sl
L 270 oy

5~Ly.q

e B-M
:\B-\é\’l \&- 13

8. Equation Editor Find the approximate
radius of a circle with a circumference of
198 centimeters. Use 3.14 for 7. Round to
the nearest hundredth. \

Ql@&«@

260 :
!!‘( )

(=3\s
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12. Draw ang label a circle with a
circumference between 10 and 15

l centimeters. Label the length of the
§ diameter,
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circumference of ac

14 @ Justity Conclusions ysa mental ma
ircle change i its radius to determine i i
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